





SetupN atoms in harmonic trap (anisotropic)
$$H = \sum_{i} \left[\frac{p_i^2}{2m} + \sum_{\alpha} \frac{1}{2} m \omega_{\alpha}^2 r_{i\alpha}^2 \right] + \frac{U_0}{2} \sum_{i < j} \delta(\mathbf{r}_i - \mathbf{r}_j)$$
Change omega's and watch responseMeasure in an experiment: $Q_{\alpha} = \sum_{j} r_{j\alpha}^2$ (breathing modes, guadrupole modes)Geal today:Calculate frequencies

$$\begin{aligned} & \mathbf{Equation of motion} \\ & \mathbf{Q}_{\alpha} = \frac{1}{i\hbar}[Q_{\alpha}, H] = \frac{1}{m}\sum_{i}r_{i\alpha}p_{i\alpha} + p_{i\alpha}r_{i\alpha} \\ & \ddot{Q}_{\alpha} = \frac{1}{i\hbar}[\dot{Q}_{\alpha}, H] = \frac{4}{m}\left(T_{\alpha} - V_{\alpha} + \frac{1}{2}U\right) \\ & T_{\alpha} = \sum_{i}\frac{p_{i\alpha}^{2}}{2m} \quad V_{\alpha} = \frac{1}{2}m\omega_{\alpha}^{2}Q_{\alpha} \quad U = \frac{1}{2}U_{0}\sum_{i}\delta(r_{i} - r_{j}) \\ & \mathbf{KA} \text{ collective coordinates} \end{aligned}$$

$$\begin{aligned} & \mathbf{Equation of motion} \\ & \mathbf{approach} \\ \dot{Q}_{\alpha} = \frac{1}{i\hbar}[Q_{\alpha}, H] = \frac{1}{m}\sum_{i}r_{i\alpha}p_{i\alpha} + p_{i\alpha}r_{i\alpha} \\ & \mathbf{approach} \\ & \mathbf{ap$$

$$\begin{aligned} \ddot{V}_{\alpha} &= \frac{1}{i\hbar} [\dot{Q}_{\alpha}, H] = \frac{4}{m} \left(T_{\alpha} - V_{\alpha} + \frac{1}{2} U \right) \\ \text{In equilibrium Q is time independant} \\ &\langle T_{\alpha} \rangle - \langle V_{\alpha} \rangle + \frac{1}{2} \langle U \rangle = 0 \\ \text{Also useful to note} \\ &H = \sum_{\alpha} T_{\alpha} + \sum_{\alpha} V_{\alpha} + U \end{aligned}$$

$$\begin{array}{l} \begin{array}{l} \begin{array}{l} \textbf{Closing the equations} \\ \ddot{Q}_{\alpha} = \frac{1}{i\hbar}[\dot{Q}_{\alpha},H] = \frac{4}{m} \left(T_{\alpha} - V_{\alpha} + \frac{1}{2}U\right) \\ \textbf{Case 1: U=0} \\ H_{\alpha} = T_{\alpha} + V_{\alpha} \qquad \textbf{is constant of motion} \\ \ddot{Q}_{\alpha} = -4\omega_{\alpha}^{2} \left[Q_{\alpha} - \frac{H_{\alpha}}{m\omega_{\alpha}^{2}}\right] \\ \textbf{Shift Q:} \quad \tilde{Q}_{\alpha} = Q_{\alpha} - \frac{H_{\alpha}}{m\omega_{\alpha}^{2}} \\ \ddot{\tilde{Q}}_{\alpha} = -4\omega_{\alpha}^{2}\tilde{Q}_{\alpha} \qquad \textbf{Oseillates at twice trap frequency} \end{array}$$

$$\begin{array}{l} \begin{array}{l} \begin{array}{l} \textbf{Closing the equations} \\ \ddot{Q}_{\alpha} = \frac{1}{i\hbar}[\dot{Q}_{\alpha},H] = \frac{4}{m} \left(T_{\alpha} - V_{\alpha} + \frac{1}{2}U\right) \\ \textbf{Case 2: 1=0 (good approximation for a BEC)} \\ U = H - \sum_{\beta} V_{\beta} \\ \\ \frac{d^{2}}{dt^{2}} \left(\begin{array}{c} Q_{x} \\ Q_{y} \\ Q_{z} \end{array}\right) = \frac{2}{m}H - \left(\begin{array}{c} 3\omega_{x}^{2} & \omega_{x}\omega_{y} & \omega_{x}\omega_{z} \\ \omega_{x}\omega_{y} & 3\omega_{y}^{2} & \omega_{y}\omega_{z} \\ \omega_{x}\omega_{z} & \omega_{y}\omega_{z} & 3\omega_{z}^{2} \end{array}\right) \left(\begin{array}{c} Q_{x} \\ Q_{y} \\ Q_{z} \end{array}\right) \\ \\ \textbf{constant} \\ \textbf{cigenvalues give oscillation frequencies} \end{array}$$



Closing the equations

Generically the equations do not close so easily -- introduce more formal tools for dealing with it

Changing trap constants for short time:

$$H_{\rm pert} = \lambda_{\alpha}(t)Q_{\alpha}$$

Response

$$\langle Q_{\beta}(t) \rangle = \langle T e^{i \int^{t} d\tau (H_{0} + H_{\text{pert}})} Q_{\beta} e^{-i \int^{t} d\tau (H_{0} + H_{\text{pert}})} \rangle$$

= $\langle Q_{\beta} \rangle_{0} + \int dt' \chi^{R}_{\alpha\beta}(t - t') \lambda_{\alpha}(t') + \cdots$

$$\chi^R_{\alpha\beta} = \frac{\theta(t)}{i} \langle [Q_\beta(t), Q_\alpha(0)] \rangle_0$$

$$\begin{aligned} & \textbf{Interaction picture} \\ & \textbf{Lonly if requested} \\ U &= Te^{-i\int^t d\tau(H_0 + H')} \\ & \bar{U} &= e^{iH_0 t} U \\ & i\partial_t \bar{U} &= e^{iH_0 t} H' U \\ & = H'(t) \bar{U} \end{aligned}$$
So
$$& \bar{U}(t) \approx 1 - i \int^t d\tau H'(\tau) \end{aligned}$$

$$\begin{aligned} & \underset{\chi_{\alpha\beta}^{R} = \frac{\theta(t)}{i} \langle [Q_{\beta}(t), Q_{\alpha}(0)] \rangle_{0} \\ \partial_{t}^{2} \chi_{\alpha\beta} = \frac{\delta'(t)}{i} \langle [Q_{\beta}(0), Q_{\alpha}(0)] \rangle_{0} + \frac{\delta(t)}{i} \langle [\dot{Q}_{\beta}(0), Q_{\alpha}(0)] \rangle + \frac{\theta(t)}{i} \langle [\ddot{Q}_{\beta}(t), Q_{\alpha}(0)] \rangle \\ & \text{Substitute in EOM for Q} \\ & \text{When EOM for Q close -- so do EOM for chi} \end{aligned}$$

$$\langle [\dot{Q}_{\beta}(0), Q_{\alpha}(0)] \rangle = \delta_{\alpha\beta} \frac{4 \langle Q_{\alpha} \rangle}{m}$$

$$\dot{Q}_{\alpha} = \frac{1}{i\hbar} [Q_{\alpha}, H] = \frac{1}{m} \sum_{i} r_{i\alpha} p_{i\alpha} + p_{i\alpha} r_{i\alpha}$$









$$\begin{array}{l} \textbf{Simpler Case}\\ \textbf{Dipole Mode (Kohn Mode)}\\ X = \sum_{i} x_{i} \qquad P = \sum_{i} p_{xi}\\ \textbf{Shift Trap center:} \qquad H_{pert} = \lambda(t)X\\ \chi = \frac{\theta(t)}{i} \langle X(t)X(0) - X(0)X(t) \rangle\\ \textbf{Equations of motion:}\\ \partial_{t}X = P/m \qquad \partial_{t}P = -m\omega_{x}^{2}X\\ \textbf{Solution}\\ X(t) = \cos(\omega t)X(0) + (m/\omega)\sin(\omega t)P(0) \end{array}$$

$$\begin{aligned} & \textbf{Response function} \\ & \chi = \frac{\theta(t)}{i} \langle X(t)X(0) - X(0)X(t) \rangle \\ & \chi = \frac{m}{\omega} \theta(t) \sin(\omega t) \end{aligned}$$

$$& \textbf{Useful to introduce "structure factors"} \qquad \overset{\text{We will see these}}{\max \text{ mext when we}} \\ & \chi^{>} = \langle X(t)X(0) \rangle \qquad \qquad \overset{\text{We will see these}}{= \langle X^{2} \rangle \cos(\omega t) + (m/\omega) \langle XP \rangle \sin(\omega t) } \\ & = \frac{m}{2\omega} \left(\coth(\beta \omega/2) \cos(\omega t) + i \sin(\omega t) \right) \end{aligned}$$

$$& \chi^{<} = \langle X(0)X(t) \rangle \qquad \qquad \text{know about T} \\ & = \frac{m}{2\omega} \left(\coth(\beta \omega/2) \cos(\omega t) - i \sin(\omega t) \right) \end{aligned}$$

